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Ideals for irreducible componentfbf Xpar

I = (w® -+ + 3u? + 1)
Iy = (u’ +3u® +u—1)

* 2 irreducible components of dim¢ = 0, with total 37 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI =(u%? —ud + ...+ 3u?+1)

(i) Arc colorings

= (3)

ag =

ag = ( :
u? +1
ag = \ —yt — 242
ul +3ut +2u%+1
ub 4+ 2ut — u?
wS+3ut +2u+1
—u8 — 4ub — 4yt
ul + 6u® + 12u” + 10u® + 5u?
—ul® — 7t — 170 — 16u” — 4ud +ud +u
—u?® — 14u? + -+ 5u° +u
u?" +15u? + - ud
u? +13uP 4+ —u? —u
—u3t —18u? + - —2u? —u

—u? —11ut® 4+ 3u? + 1
a12 = \ —y29 — 10u'® — 38u'0 — 66w — 47u? — 440 + 6ud + 2uS — Hu?

as =

ayp =

(ii) Obstruction class = —1

(iii) Cusp Shapes

= —4u30+4u? — 76128 4+68u2" —632126 +50012° —3012124 42072123 — 9052122 + 528442 —
1781220 + 8508u'? — 231644 + 8580u'” — 19788u'® + 52921 — 10868u'* + 1960u 3 —
3384u!? 4-344u't —36u'? —80u? +376ud —44u” +156u’ —96u° +36u* —12u® —28u? +4u—10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1 u*? —9ut 4+ — 110u + 33
C2,C3,Cs u32+u31+_._+3u2+1
C9
ca, 07 u?? — 4uP! + - — 108u + 36
Cs, Cg, C10 u32+u31+_._+2u+1
C11, C12




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 y32 — 7yt . — 3982y + 1089
C2,C3,C8 y32+37y31+~-~+6y+1
C9
€4, 7 y*? — 20y + - - 4 19080y + 1296
Cs, Cg, C10 y32+41y31+~-~+6y+1
C11,C12




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + v=1CS)

Cusp shape

uw=0.300810 + 0.8361121

6.82102 — 1.427641

—4.51155 — 0.980641

uw= 0.300810 — 0.8361121

6.82102 + 1.427641

—4.51155 + 0.980641

u=0.489031 + 0.7342391

8.08609 + 8.054821

—2.31310 — 6.736761

u= 0.489031 — 0.7342391

8.08609 — 8.054821

—2.31310 + 6.736761

u = —0.454853 + 0.7362721

—0.91691 — 6.311711

—4.12363 + 8.399721

u = —0.454853 — 0.7362721

0.91691 4+ 6.311711

—4.12363 — 8.399721

uw= 0.408575+ 0.7502411

3.78730 4 3.139131

—10.07435 — 5.217291

u= 0.408575 — 0.7502411

—3.78730 — 3.139131

—10.07435 4 5.217291

u = —0.508887 + 0.4538161

12.96460 — 1.769281

2.67390 + 3.905941

u = —0.508887 — 0.4538161

12.96460 + 1.769281

2.67390 — 3.905941

u= 0.431538 + 0.4458021

3.53431 + 1.547061

2.87219 — 5.019911

u= 0.431538 — 0.4458021

3.53431 — 1.547061

2.87219 4 5.019911

u= 0.598654 + 0.1283671

9.86359 — 4.361011

1.36134 + 2.030961

u= 0.598654 — 0.1283671

9.86359 + 4.361011

1.36134 — 2.030967

u = —0.554088 + 0.0922807

0.95148 4 2.865431

0.05561 — 3.877841

u = —0.554088 — 0.0922807

0.95148 — 2.865431

0.05561 + 3.877841

u = —0.09682 + 1.496631

6.60174 — 3.811221

0.+ 2.895901

u = —0.09682 — 1.496631

6.60174 + 3.811221

0. —2.895901

u = —0.188661 + 0.4418641

—0.184695 — 0.7921151

—5.07140 + 8.681361

u = —0.188661 — 0.4418641

—0.184695 + 0.7921151

—5.07140 — 8.681361

u= 0.06894 + 1.520781

—2.97865 + 3.125101

—4.00000 — 3.934051

= 0.06894 — 1.520781

-~
IS

—2.97865 — 3.125101

—4.00000 + 3.934051

u = —0.02317 + 1.552731 —7.06597 — 1.365831 0.+ 4.578031
u = —0.02317 — 1.552731 —7.06597 + 1.365831 0. —4.578031
u = —0.13063 4+ 1.617921 —8.94709 — 8.509941 0

u = —0.13063 — 1.617921 —8.94709 + 8.509941 0

u= 0.14214 + 1.617097 0.08629 + 10.426101 0

u= 0.14214 — 1.61709] 0.08629 — 10.426101 0

uw= 0.11670 + 1.62115] —11.89960 + 5.119131 0

uw= 0.11670 — 1.62115] —11.89960 — 5.119131 0




Solutions to I* v—1(vol + /—1CS) | Cusp shape
u = —0.09928 + 1.622521 —9.83905 — 1.682851 0
u = —0.09928 — 1.622521 —9.83905 + 1.682851 0




IL. 1Y = (u® + 3u® + u — 1)

(i) Arc colorings

= (o)

0
ag = u
1
as = —u?
U
aio = \u
—u
ag = \y3+u
u? +1
ay = 7U4 _ 2u2
wHu+1
as = \ —y* —2u? +u
wWHu+1l
a1 = \—ud+u?—u
u?+1
a7 = u2
—u3
an =\ —ud +u
ut +u? +1
ag = ut
—ud+1
a12 =\ —2¢3 —2u+1
(ii) Obstruction class = —1

(iii) Cusp Shapes = —6



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
‘@ u® —2ut —ud + 4u® + 3u —3
C2,C3,Cs
5 3
C6, Cs, Co u’ +3u”+u+1
€10, C11, C12
1)
€4, C7 (u+1)




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1 y® — 6y* + 23y° — 34> + 33y — 9
C2,C3,Cs
Cg,C8,C9 y5+6y4+11y3+6y2+y—1
€10, C11, C12
C4,C7 (y—1)°




(vi) Complex Volumes and Cusp Shapes

Solutions to IY vV—1(vol ++/—1CS) Cusp shape
u = —0.343105 + 0.7707911 —1.64493 —6.00000
u = —0.343105 — 0.7707911 —1.64493 —6.00000
u= 0.525261 —1.64493 —6.00000
uw= 0.08047 4 1.633411 —1.64493 —6.00000
u= 0.08047 — 1.633411 —1.64493 —6.00000

10



ITI. u-Polynomials

Crossings u-Polynomials at each crossing
€1 (u® — 2u* — u® + 4u® + 3u — 3)(u3? — 9u3! 4 - — 110u + 33)
C2,C3,C8 (u5+3u3+u+1)(u32+u31+~--+3u2+1)
C9
Cy4, C7 (u+1)%)(u? — 43 + .- — 108u + 36)
C5,C6,C10 (u5+3u3+u+1)(u32+u31+~--+2u+1)
€11, C12
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 (y° — 6y* + 23y° — 34y + 33y — 9)(y** — Ty + - - — 3982y + 1089)
208,08 (y° +6y* + 11y° + 6y° +y — 1)(y* + 37> + - + 6y + 1)
C9
cs, 1 ((y — 1)%)(4*% — 205°" + - - - 4 19080y + 1296)
Cs5,C6, C10 (y5 + 6y4 + 11y3 + 6,y2 4 Y — 1)(y32 + 41y31 ot 6y + 1)
€11, C12
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